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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 16 leL e e            
Øe Mve  18 nQ~ 
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

18 questions. 
• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s k eâes[ vecy ej le L e e mesš  ke âe s Úe$e  

Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙe  
e fue Ke W~ 
Before beginning to answer a question, its Serial 
Number must be written. 

SET : A 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 
Don’t leave blank page / pages in your answer-
book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 
Candidates must write their Roll Number on the 
question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

mee ceevÙe  efveoxMe : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

 (ii) Ø e lÙe ske â  he Ç Mve  k es â De b ke â  Gme ke â s  me ece ve s oMe e&S  ieS  nQ~  

 (iii) Ø e Mve  me b KÙe e  1 ce W y e ejn (i-xii) y e nge fJe ke â uhe e rÙe  Øe ÇMve  nQ~ Ø e lÙe ske â 

Ø e Mve  1 De b ke â k e âe  nw~ e fpe ve ke s â  mener Gòe j  De h e ve e r Gòej-he ge fml e ke âe  c eWb s 

e fue Ke ve s nQ~ 
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 (iv) Ø e Mve  me b KÙe e  2 me s 10 le ke â  De e fle ue Ie g Gòe j erÙe  Øe Mve  nQ~  Ø elÙe ske â 

Ø e Mve  2 De b ke â eW k e âe  nw~ Ø e lÙe skeâ  Øe Mve  keâ e  G òe j  ue ie Ye ie  30 Me yoeW 

c e W oe refpeS ~  

 (v) Ø e Mve  meb KÙe e  11 mes  15 lek e â  ueI e g G òe je rÙ e  Ø e Mve nQ~ Ø e lÙe ske â   

Ø e Mve  3 De b ke âe W ke âe  nw~ Øe lÙe ske â  Ø e Mve  ke âe  Gòe j ue ie Ye ie  40 Me yoeW 

c e W oe refpeS ~ 

 (vi) Ø e Mve  meb KÙe e  16 me s 18 le k e â oe rIe & Gòej e rÙ e  Øe Mve  nQ~ Ø elÙe skeâ            

Ø e Mve  5 De b ke âe W ke âe  nw~ Øe lÙe sk eâ  Ø e Mve  ke â e Gòe j ue ie Yei e 70 Me yoeW 

c e W oe refpeS ~ 

 (vii) Ø e Mve-he$e  ce bs me ce «e ™ he  me s ke âesF & efJ e ke âuhe  ve ne R nw~ le L e ee fhe  5 De b k e âeW 

J e e ue s l e erve e W Øe Mv ee W ce W De e b lee fj ke â Ûe Ùe ve  Øe oe ve  e fke â Ùe e  ie Ùee  nw~ S smes 

Ø e Mve e W ceW me s De e he ke âe s k es âJe ue  S keâ  ne r Øe Mve  ke âj ve e  nw~ 

General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated 

against it. 

 (iii) Question Number 1 consists of twelve (i-xii) 

multiple choice questions carrying 1 mark 

each. Candidates have to write the correct 

answer in their answer-book.  



 ( 4 ) 2929/ (Set : A) 

2929/ (Set : A) 

 (iv) Question Numbers 2 to 10 are very short 

answer type questions of 2 marks each. 

Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short 

answer type questions of 3 marks each. 

Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer 

type questions of 5 marks each. Answer 

these in about 70 words each. 

 (vii) There is no over all choice. However, internal 

choice is given in all long answer type 

questions of 5 marks each. You have to 

attempt only one of the given choice in such 

questions. 

  1. (i) ceesuej Ûeeuekeâlee keâer FkeâeF& nw :   1 

  (A) 121 −− molcmohm   

  (B) 22 −− molcmohm  

  (C) 122 −− molcmohm   

  (D) 221 −− molcmohm   
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  The units of molar conductivity is :  

  (A) 121 −− molcmohm   

  (B) 22 −− molcmohm  

  (C) 122 −− molcmohm   

  (D) 221 −− molcmohm  

 (ii) Skeâ heâuekeâ kesâefvõle Skeâkeâ keâesef<"keâe ceW hejceeCeg nesles nwb : 1 

  (A) 4 (B) 2 

  (C) 3 (D) 1 

  In a Face Centered Unit Cell (FCC) the 

number of atoms present : 

  (A) 4 (B) 2 

  (C) 3 (D) 1 

 (iii) efvecve ceW keâewve yegKeej keâce keâjleer nw ? 1 

  (A) Sveeupesefmekeâ (B) Svšermesefhškeâ 

  (C) SvšeryeeÙeesefškeâ (D) SvšerheeFjsefškeâ  
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  Which of the following reduces fever ?  

  (A) Analgesic (B) Antiseptic 

  (C) Antibiotic  (D) Antipyretic  

 (iv) efvecve ceW keâewve-mee oes<e IevelJe hej ØeYeeJe veneR  [euelee  ? 1 

  (A) Mee@šdkeâer oes<e (B) DeblejekeâeMeer oes<e 

  (C) øeWâkesâue oes<e (D) FveceW mes keâesF& veneR 

  Which defects does not affect density of the 

crystal ?   

  (A) Schottky defects  

  (B) Interstitial defects  

  (C) Frenkel defects  

  (D) None of the above  

 (v) keâesueeF[ue mee@ue keâes Megæ efkeâÙee peelee nw : 1 

  (A) Deheesnve (B) leueÚšerkeâjCe  

  (C) Úevevee  (D) keâe@ieguesMeve 
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  Colloidal sols are purified by :   

  (A) Dialysis   

  (B) Precipitation 

  (C) Filtration   

  (D) Coagulation 

 (vi) heäuee@kegâuesMeve ceeve oMee&Ùee peelee nw :  1 

  (A) milli moles 1−L  (B) 1mg −L  

  (C) mole 1−L  (D) mg per 10 ml  

 

  Flocculation value is expressed in :   

  (A) milli moles 1−L   

  (B) 1mg −L  

  (C) mole 1−L   

  (D) mg per 10 ml  
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 (vii)  efvecve ceW keâewve Skeâ DeCegmebKÙe iegCeOece& nw ? 1 

  (A) hejemejCe oeye  

  (B) ieueveebkeâ 

  (C) keäJeLeveebkeâ   

  (D) FveceW mes keâesF& veneR 

  Which of the following is a colligative 

property ?  

  (A) Osmotic pressure 

  (B) Melting point  

  (C) Boiling point  

  (D) None of these  

 (viii) peerjes keâesefš DeefYeef›eâÙee kesâ Jesie efmLejebkeâ keâer FkeâeF& nw : 1 

  (A) 11 −− sLmol  (B) 1−s  

  (C) 12 −− smolL  (D) 122 −− smolL   

   Unit of rate constant of zero order reaction    
is :   

  (A) 11 −− sLmol  (B) 1−s  

  (C) 12 −− smolL  (D) 122 −− smolL   
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 (ix) cewivesšeFš DeÙemkeâ nw : 1 

  (A) DeeÙejve  (B) kewâefuMeÙece 

  (C) keâe@hej  (D) efpebbkeâ 

  Magnetite is an ore of :  

  (A) Iron   (B) Calcium  

  (C) Copper  (D) Zinc  

 (x) DeefYeef›eâÙee CueCu →+
−+ 22  Skeâ GoenjCe nw : 1 

  (A) Dee@keämeerkeâjCe DeefYeef›eâÙee   

  (B) DeheÛeÙeve DeefYeef›eâÙee 

  (C) efj[e@keäme DeefYeef›eâÙee  

  (D) efjJeefme&yeue DeefYeef›eâÙee  

  Chemical reaction CueCu →+
−+ 22  is an 

example of :  

  (A) Oxidation process 

  (B) Reduction process 

  (C) Redox process 

  (D) Reversible process 
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 (xi) efšbkeäÛej DeeÙees[erve nw :     1 

  (A) peueerÙe efJeueÙeve 2I   

  (B) 2I keâe KI ceW efJeueÙeve 

  (C) 2I  keâe Sukeâesne@efuekeâ efJeueÙeve 

  (D) KI keâe peueerÙe efJeueÙeve   

  Tincture Iodine is :   

  (A) Aqueous solution of 2I  

  (B) Solution of 2I  in aq. KI 

  (C) Alcoholic solution of 2I  

  (D) Aqueous solution of KI 

 (xii) efvecve ceW keâewve Skeâ Ssvšeefme[ nw ?   1 

  (A) jsefveefš[erve (B) Sefmheefjve 

  (C) vesØeeskeämesve  (D) hesefveefmeueerve 
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   Which of following is an antacid ?   

  (A) Ranitidine  (B) Aspirin  

  (C) Naproxen  (D) Penicillin  

  2. ef›eâmšueerÙe leLee Deef›eâmšueerÙe "esme heoeW keâer heefjYee<ee oerefpeS~ 2 

 Define the terms crystalline & amorphous    

solids. 

  3. 750 ml efJeueÙeve ceW 14 «eece KOH nw Fmekeâer ceesuejlee keâer ieCevee 
keâerefpeS~  2 

 Calculate the molarity of a solution containing 

14 gm of KOH in 750 ml of solution.  

  4. DeefYeef›eâÙee Jesie hej leeheceeve keâe keäÙee ØeYeeJe neslee nw ? 2 

 What will be the effect of temperature on rate of 

reaction ?  

  5. heeG[j heoeLe& Gvekesâ ef›eâmšueerÙe heâece& keâer leguevee ceW keäÙeeW DeefOekeâ ØeYeeJeer 
S[dmee@yexvš nesles nQ ? 2 

 Why are powdered substances more effective 

adsorbent than their crystalline forms ?  
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  6. efvecve heoeW keâes heefjYeeef<ele keâerefpeS : 2 

 (i) meesuÙetš 

 (ii) meesuÙetMeve 

 Define the terms :  

 (i) Solute  

 (ii) Solution  

  7. ØeLece keâesefš DeefYeef›eâÙee keâe K = 4 1min−  nw Fmekeâer DeOe& DeeÙeg keâer 
ieCevee keâerefpeS~ 2 

 Calculate half life time of a 1st order reaction 

having K = 4 1min− .  

  8. efvecve heoeW keâes heefjYeeef<ele keâerefpeS : 2 

 (i) Keefvepe  

 (ii)  DeÙemkeâ 

 Define the terms :  

 (i) Minerals  

 (ii) Ores  
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  9. keâ=ef$ece ceOegjkeâ keäÙee nwb ? oes  GoenjCe oerefpeS~ 2 

 What are artificial sweetening agents ? Give two 

examples.  

10. pebie keâer heefjYee<ee oerefpeS~ Fmekeâe jemeeÙeefvekeâ met$e keäÙee nw ? 2 

 Define Corrosion. What is the chemical formula 

of rust ?  

11. nsvejer keâe efveÙece keäÙee nw ? Fmekesâ cenlJehetCe& GheÙeesie efueefKeS~ 3 

 What is Henry's law and mention its some 

important applications ?  

12. Mee@šdkeâer oes<e heo keâer GoenjCe meefnle JÙeeKÙee keâerefpeS~ 3 

 Explain the term Schottky defects with an 

example.   

13. ØeLece keâesefš DeefYeef›eâÙee keâs meceekeâefuele Jesie meceerkeâjCe keâer JÙeglheefòe     
kewâmes keâjsbies ? 3 

 How will you derive integrated rate equation for 

first order reaction ?  

14. Deheesnve leLee JewÅegle Deheesnve keâer JÙeeKÙee keâerefpeS~ 3 

 Explain Dialysis and electro dialysis.  
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15. õeJeieueve heefj<keâjCe efJeefOe keâer JÙeeKÙee keâerefpeS~ 3 

 Explain the liquation process of refining.  

16. 5PCl keâes lewÙeej keâjves keâer oes  efJeefOeÙeeB efueefKeS leLee 5PCl keâer mebjÛevee 
keâer JÙeeKÙee keâerefpeS~ 5 

 Give two methods of preparation of 5PCl  and 

discuss the structure of 5PCl .  

DeLeJee 

OR 

 Heâe@mheâesjme kesâ efkeâvneR hee BÛe Dee@keämeer DecueeW kesâ veece Je met$e efueefKeS~ 

 Name any five oxoacids of phosphorus and write 

their formula.  

17. nwueespeve kesâ efJeefYeVe Dee@keämeer DecueeW kesâ veece yeleeFS leLee Gvekeâer mebjÛevee 

yeveeFS~        5 

 Name the various oxoacids of halogens and draw 

their structure.  
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DeLeJee 

   OR  

 efvecve keâer JÙeeKÙee keâerefpeS : 

 (a) SH2 , TeH2  mes keâce DecueerÙe nw, keäÙeeW ? 

 (b) heäuegDeesjerve keâe Sveescesueme JÙeJenej~ 

 Explain the following :  

 (a) SH2  is less acidic than TeH2 , why ?  

 (b) Anomalous behaviour of Fluorine.    

18. efJeÅegled jemeeÙeefvekeâ mesue keäÙee nw ? meeuš efyeÇpe keäÙee nw ? Fmekesâ keâeÙe& 
yeleeFS~  5 

 Define an electrochemical cell. What is salt 

bridge and give its function ?  



 ( 16 ) 2929/ (Set : A) 

2929/ (Set : A) 

DeLeJee 

OR 

 Fueskeäš̂esefueefškeâ keâe@ved[keäMeve (electrolytic conduction) keâer 
JÙeeKÙee keâerefpeS~ Ùen keâewve mes Ieškeâ (hewâkeäšj) hej efveYe&j keâjlee nw ?  

 Discuss electrolytic conduction. What are factors 

on which it depends ?  

SSSS  

 


